








Item:

Location:

Order:

Building Project:

0-23336-503
K&K Play structure

List of Screw Case

1292053

Page 1 / 3

Fixing of platform at stainless steel post39 x SFES1200001
nut on platform site

per SC Total K&K-Item Marking

Safety nut  M12  DIN985 A21 x 39 x 3430021
.

intended to connect ES120-platform onto support
post

Cheese head screw M12 x 130 with pin1 x 39 x 2030169
.

Platform at stainless steel posts1 x SFES1200004
 factory setting bolt

per SC Total K&K-Item Marking

Safety nut  M12  DIN985 A21 x 1 x 3430021
.

Standard bolting of add-on pieces44 x SFES1210001
intended to connect ES120-add-on pieces (exept platforms) at support post

per SC Total K&K-Item Marking

Intended to connect ES120-add-on pieces (except
platforms) at support post

Cheese head screw M12x140 with pin1 x 44 x 2030168
.

Timber course connection-chain4 x SFRS1200008
for totter bridge at support post

per SC Total K&K-Item Marking

Safety nut  M12  DIN985 A21 x 4 x 3430021
.

colour red/RAL 2002 PA6
Screw cap - upper part M12 P21 x 4 x 3300055

.

Washer Ø 13  DIN125  A21 x 4 x 3430025
.

colour red/RAL 2002 PA6
Screw cap - lower part, domed M121 x 4 x 3300054

.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24



Item:

Location:

Order:

Building Project:

0-23336-503
K&K Play structure

List of Screw Case

1292053

Page 2 / 3

Connection of wooden parapet board  at platform3 x SFAS1210002

per SC Total K&K-Item Marking

Washer Ø 10,5 DIN 7349 A21 x 3 x 3430108
.

colour white, RAL 9010, PA6
Screw cap M 10 P1 (lower part) white RAL 90101 x 3 x 3300056

.

colour white, RAL 9010, PA6
Screw cover cap M 10 P1 (upper part) white1 x 3 x 3300057

.

Safety nut M10 A2 DIN 9851 x 3 x 3430048
.

Washer Ø 10,5 DIN 125B   A21 x 3 x 3430014
.

shortened M10 x 100 DIN603
Mushroom head screw  M10 x 95 DIN603 A21 x 3 x 3400651

.

Slide support post at Hill-slide1 x SFAS1070004

per SC Total K&K-Item Marking

Washer Ø 13  DIN125  A22 x 2 x 3430025
.

 safety coated thread
Dome head security bolt M12 x 25 A2 PinHexagon,2 x 2 x 3400622

.

Slide-run-out-section (mini) on foundation1 x SFAS1070007

per SC Total K&K-Item Marking

Stonescrew set for slide-runout  M12 x 1602 x 2 x 1070365
.

Reinforcing steel for stainless steel post14 x SFES1270001

per SC Total K&K-Item Marking

Reinforcing steel ES120 Ø 12 x 250  1.43012 x 28 x 2030199
.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24



Item:

Location:

Order:

Building Project:

0-23336-503
K&K Play structure

List of Screw Case

1292053

Page 3 / 3

Allen key SW8 hexagon socket1 x SFWZ0000005
with drill hole for Pin

per SC Total K&K-Item Marking

Allen key SW8 hexagon with drill hole for Pin1 x 1 x 3490057
.

Hexagon insert socket driver 10mm 1/2"1 x SFWZ0000009
with borehole for Pin

per SC Total K&K-Item Marking

with drill hole for Pin
Hexagon insert socket driver 10 mm 1/2"1 x 1 x 2030170

.

Lubricating metal (30g box) incl. brush2 x SFWZ0000012

per SC Total K&K-Item Marking

Lubricating metal box à 30g1 x 2 x 5300039
.

Brush for lubricating metal1 x 2 x 5200026
.

Im Südloh 5        27324 Eystrup         www.kaiser-kuehne-play.com  +49 4254 9315-0 +49 4254 9315-24


